H & 0l & AHS B Ml A

M 23
g ogd 2
el AgEd 25 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
31 2,713,617 3,757,095 1,043,478
= 122,000
== 133,450
Al 2,458,167
AoAed 28 91,900 94,340 A2,440
= 14,275
Al 77,625
Aotetd 25 91,900 94,340 A2,440
=S 14,275
Al 77,625
2Fus 2dst 24,120 0 24,120
== 10,000
Al 14,120
201 2= 3,120 3,120
01 AtR2t2lt] 3.120 3.120
OBADS 222 HN
2,000,00021 14! 2,000
OBANSAV HHSY
70,0002 x4 *43] 1,120
301 EetE NS 1,000 1,000
11 #AIAHIXIE S 1,000 1,000
OstBHA s & A X1
1,000,000 *14] 1,000
307 elztol & 20,000 0 20,000
= 10,000
Al 10,000
02 2B HAIAE & 20,000 0 20,000
Od+d dejatdus Xa
20,000,000& * 14 20,000
= 10,000
Al 10,000
LRSI ZAU 2 14,250 30,970 16,720
< 4,275
Al 9,975
101 @124H| 14,250 30,970 216,720
= 4,275
Al 9,975
M OIRINZZE2NSE S 14,250 30,970 A16,720
OZHSHZAU 28
14,250,000 * 14 14,250
= 4,275
Al 9,975
SEINERYES 2l 44,330 55,970 211,640
201 =3 44,330 55,970 A11,640
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g ogd 2
el AgEd 25 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 16,530 22,370 6,840
Og=2= & 1,000,000 #23 2,000
Ot Rgs XA M
80&+32,00021 %43 10,240
OUESIE stz
5,000 *x302x123] 1,800
OJAS ER 28
80&*1,50021 %123 1,440
OXS0IHl =2 502 50021 %23 50
® 222 28,800 33,600 4,800
OBANHLLS DN Ls SHR3
4003 18,0004 *43] 28,800
Aed 2ESEs 9,200 0 9,200
201 er23 | 1,000 1,000
01 At2t2ltl 1,000 1,000
O=EldZ=2s & NHES8s A28
-8 1,000,000 %14 1,000
202 048l 7,200 7,200
01 2L AL 7,200 7,200
OXEzeEs =0l
600,000& * 122 7,200
301 22N = 1,000 1,000
14 JIEt2 = 1,000 1,000
Odgde ML s
1,000,000 14| 1,000
MERH 2 503,932 796,815 A292,883
= 122,000
= 80,600
Al 301,332
HENH 2= 503,932 796,815 N292,883
= 122,000
= 80,600
Al 301,332
AHEHH| IZIOH Ol 16,168 25,121 28,953
101 @124H| 10,818 10,811 7
MU IIRINZZENSES 10,818 10,811 7
O AL (IS0t X HloHole) 10,818
>llEs 2,386,780 x2H<2E 9,548
D> AX=E 11,4203 »BAI2E*2H 1 183
>=UASIELES 9,729,840 *4 . 5% 438
DALEE= 9,729,840 %3.545% 345
PAVNRLEER 34,9202 %12.81% 45
PE=het=: N 9,729,840 %1.75% 171
DAHESEE 9,729,840 0. %% 88
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FA 23
Ha: MEPH 2
Gl MEHH ES (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAS ThS OFSIEhR] Zal &S|
20,0002 x30H x5 x4 12,000
= 6,000
Al 6,000
OLZCIDIHAIEE S OFHSUEHXI 2cl 130,000 120,000 10,000
= 65,000
= 32,500
Al 32,500
201 er23y| 92,500 82,500 10,000
= 46,250
== 23,125
Al 23,125
01 At2teltl 92,500 82,500 10,000
OAS ThS ORMSIEHT AMKITEl 8% 2 22
-8 92,500,000 * 14 92,500
= 46,250
S 23,125
Al 23,125
301 EtE N = 37,500 37,500 0
= 18,750
< 9,375
Al 9,375
14 JIEt2d=3 37,500 37,500 0
OASF CHS OFMSISHXI AHl AIRTHE A3
30,000,000& »14] 30,000
= 15,000
== 7,500
Al 7,500
OASFUHS OFMCIEHXl HIAK Xcl B&=
7,500,000 14 7,500
= 3,750
& 1,875
Al 1,875
OriS=E LoHEAIES 1,200 1,200 0
201 er23| 1,200 1,200
01 AtR2t2|HI 1,200 1,200
OO0FH4SZ= LIHZAF +=SHI
1,200,000 *14] 1,200
Or4=S= Tloh2d 39,000 54,000 /15,000
[ 11,700
Al 27,300
301 LELEE S 39,000 54,000 A15,000
= 11,700
Al 27,300




M 23
mo: MEH| 2
o2 MEfH 23 (EEEE))
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
14 IIEt2 8= 39,000 54,000 15,000
O0rES= Tloi 24 39,000,000& » 14 39,000
= 11,700
Al 27,300
OriS= LIoHOIZAIE &XI 54,000 57,000 A3,000
= 27,000
= 5,400
Al 21,600
402 2I2F X201 & 54,000 57,000 23,000
= 27,000
< 5,400
Al 21,600
02 QI X2 AL EE(OIETHE) 54,000 57,000 A3,000
OOIMES TIFHMLAIE X
54,000,000& »14] 54,000
= 27,000
== 5,400
Al 21,600
LHEHH wetd= MAH 60,000 60,000 0
= 30,000
[ 6,000
Al 24,000
401 Al HIZL 201 60,000 58,000 2,000
= 30,000
== 6,000
Al 24,000
01 A&l 60,000 58,000 2,000
OMEHH netdE MA
60,000,000 * 14| 60,000
= 30,000
s 6,000
Al 24,000
E242Y HEEs 4,764 4,654 110
201 Ler23 | 4,764 4,654 110
01 At22t2lt] 4,764 4,654 110
OE22d AME AIZTHHE 7L
55,0003 22t A 110
Oy M=
103,300& #52| x4 04 A 2,066
OE22d AHZAL AIZIHF
91,9003 *200H 2 1,838
Oy AMNE FH|l Xz
750,000 12 750
=Hag 2d 21,440 22,750 21,310




M 23
B Lms 9
el 22E S (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=2 2 21,440 22,750 21,310
HeE=E SSAIE 2l 21,440 21,440 0
201 er23| 10,240 10,240 0
01 At2teltl 2,800 2,800 0
Osicg ZSAE B2l+8Y|
400,000 79K 2= 2,800
02 S3=4gHl 7,440 7,440 0
OXEa=sAE HIIRS
10,000 *7 0 A% 128 840
OXdEA=AE KX2e
6,600,000 +14] 6,600
202 04l 1,200 1,200
01 =LHOHI 1,200 1,200
OYe=s SSAE 22 BRFA0YI
100,000 * 12 1,200
401 AIEHIZ SR OHYI 10,000 10,000
01 Al&| 10,000 10,000
Ooicg BEAL T4
10,000,000 * 14| 10,000
Q=2 1,241,725 1,827,950 A586,225
=S 25,750
Al 1,215,975
L2 FHA 15,852 20,244 N4,392
HRIGk=HMelAlE 2el 15,852 20,244 N4,392
201 =3 11,052 15,444 A4,392
01 At22t2lt] 4,212 5,244 1,032
OMelot=XelANE =EBA==E
8,600 x3524 122 3,612
OnNEEZ SHUR= 50,0002 123 600
02 S3=gHl 6,840 10,200 A3,360
OFAUZ &E RBRs
4003 1,300~ 128 6,240
OJfelot=MelAlE BEXelE SUHEAR
2 50,000 * 122 600
202 04| 4,800 4,800
01 =LHA LI 4,800 4,800
OJelot=xelAlE N=EZ 0
200,000 x 122 2,400
OJ=2=EANE N=EZ 0L
200,000 * 128 2,400
OISCHE &4 IJt3)| 1,225,873 1,807,706 A\581,833
S 25,750
Al 1,200,123
2E(201)st=y 2t 1,072,306 1,696,706 A\624,400
201 er23| 113,600 96,000 17,600




M 23
B Q4pa
Chel: OISCH2 atEa JHRJ| EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 88,000 70,400 17,600
O38 ¥ 20I=ta4 HIE 28
6.,000,000& 123 72,000
O™getXl 2Hte ataa X gxz
8,000,000& 22 16,000
2 S22l 25,600 25,600 0
O2zsiza 223
1,800,000& «12& 21,600
O33(20l)atEa |2
4,000,000& *14] 4,000
202 04| 1,200 1,200
01 2L A b 1,200 1,200
OssstE4d 2el € N=EZ0I
100,000 »12& 1,200
307 lztol & 907,506 907,506
05 2IZtAE = 907,506 907,506
O3s(20l)ataa Fa2e
907,505,250 x 14 907,506
401 A& HIX R0 50,000 692,000 A642,000
01 AlZH| 50,000 692,000 642,000
O3S(2ol)stdd 24
50,000,000& x14! 50,000
SSoEA o2t 19,167 66,000 N46,833
< 5,750
Al 13,417
401 Al HIZL 201 19,167 66,000 N\46,833
= 5,750
Al 13,417
01 Al&HI 19,167 66,000 N\46,833
O=ss3ad c|2&d
7,500,000 +20H 2= 15,000
= 4,500
Al 10,500
OLEDZEE WAl 1,000,000 *20H A 2,000
& 600
Al 1,400
OAdES+HE &% 108, 3503 *20H 2,167
= 650
Al 1,517
= SSAHE A 40,000 0 40,000
=S 20,000
Al 20,000
401 AIEHIZ SR THYI 40,000 0 40,000
< 20,000
Al 20,000
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B Q4pa
Chel: OISCH2 atEa JHRJ| EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 40,000 0 40,000
OL% SS3t84 AL e
40,000,000 *14] 40,000
= 20,000
Al 20,000
HesEs =29 94,400 45,000 49,400
201 et 3| 8,000 45,000 A37,000
01 AtR2tc|Hl 8,000 45,000 A37,000
Ogstaal oHfEXIE &AX
400,000 *200H 2= 8,000
301 EtE NS 86,400 86,400
14 IIEt2 83 86,400 86,400
Ogatad ezt N
80,0003 90 A+ 123 86,400
Wees (e 693,321 785,000 291,679
WRHeHXIE (&30 693,321 785,000 A91,679
WERHAXES(ENLAMBELESIAH) 693,321 785,000 A91,679
701 JIEtR| HSHES 693,321 785,000 291,679
01 It AN ES 693,321 785,000 A91,679
OxZIMEAILEEH HES
693,321,000 x 14 693,321
HY2AZHI(2FM) 161,299 230,240 68,941
[ 12,825
Al 148,474
lIARAH| (23 1) 107,269 169,660 262,391
= 12,825
Al 94,444
ol2Hy| (&0 64,519 76,797 N12,278
101 @124H| 64,519 76,797 N12,278
01 &2 64,519 76,797 N12,278
OAIZRIZR4E
11,3192 x198 x300A[ 2t 64,519
A2 (B2 W) (EX) 42,750 92,863 A50,113
== 12,825
Al 29,925
101 e124d| 42,750 92,863 A50,113
< 12,825
Al 29,925
03 SR (RINAHA) 222+ 42,750 92,863 AB0,113
OZ S ZAU 2&
42,750,000 *14] 42,750
= 12,825
Al 29,925
Jl2ddl(sd) 54,030 60,580 6,550
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4,800
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